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Choose the best answer for the blank.

A: Do you know if Brad is studying now?
B: Well, when | saw him in his room, he
the TV.

(a) watches
(c) was watching

(b) is watching
(d) will watch

Choose the best answer for the blank.
The detective stated that the woman
to the police if she had been in the spot.

(a) reports
(c) could report

(b) can report
(d) could have reported

CHEH2OIM O Sal7iLt ojMet 20| s RS
m2E 9aolct 24 XA ozl s 72 1t
of, AE0| M2 H3to ST ofsksts S3= Te
sict,

Part IV I3y
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Identify the option that contains an awkward
expression or an error in grammar.

(a) A: My younger brother was driven me crazy
last night.

Did he do anything wrong? | thought he
was a good boy.

He spilt water in my drawer and didn’t
clean it up.

You might have done something to him

beforehand.

(b) B:

(c) A:

(d) B:

Identify the option that contains an awkward
expression or an error in grammar.

(a) Elephants, the largest land animals, once
have various species. (b) Most species became
extinct after the last ice age. (c) However, the
Mammoths, the dwarf forms of these elephants,
survived as late as 2,000 BC. (d) They are close
relatives of modern elephants.
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Choose the best answer for the blank.

A: Cashor ?
B: I'll put it on my credit card.

(a) bill

(b) money
(c) value
(d) charge

=Y giZhol| 71y XA 028 D= 2658z T Ut Part 11} OMEVIXZ S 2HHE S 019
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Choose the best answer for the blank.
No public official is likely to change his or her on high taxes.
(@) tune
(b) mind
(c) sense
(d) attention
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Diagnostic Test

GRAMMAR &
VOCABULARY

DIRECTIONS

This diagnostic test assesses your grammar and vocabulary skills.
Before you study each section of this book, the test result will
provide comprehensive information about your current proficiency
in these two areas. In the grammar session, you will have 25 minutes
to complete 50 questions. In the vocabulary session, you will

have 15 minutes to complete 50 questions. Be sure to follow the
directions given on the sheets.
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: No, somebody

: What did you buy at that flea market?

for the kids.

(a) A little just something
(b) A something just little
(c) Something a little just

(d) Just a little something

: Did you pick up the newspaper this

morning?

(a) should have stolen it
(b) must have stolen it
(c) could have stolen it
(d) would have stolen it

14 STEP TEPS final - G&V
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Questions 1-20

Choose the best answer for the blank.
1. A: My desk is full of trash. . A: Who gave a presentation this morning?
B: _ mine. Let’s tidy them up B: John . It was quite good.
this afternoon. (a) do
(a) Itis (b) does
(b) So is (c) did
(c) So that (d) will do
(d) That is so
. A: Could you babysit tonight for Gerald

2. A: Did you hear Monica will retire this and me?

month? B: Sorry, but I promised
B: I wonder what made her

to do so. (a) go to a farewell dinner
(a) decide (b) to go to a farewell dinner
(b) decided (c) to going a farewell dinner
(c) to decide (d) going to a farewell dinner
(d) deciding

It’s getting difficult to find a decent job.

(a) will be better soon enough
(b) will better soon enough be
(c) soon be enough will better
(d) be enough better soon

Do you know when

paper’s jammed in the machine?

B: I'd better read the manual.

: It will take up space

(a) how to do
(b) what to do
(c) which to do
(d) where to do

: That dishwasher is attractive.

the kitchen.
(a) at

(b) on

(c) in

(d) from




10.

11.

12.

13.

14.

15.

A:
: I feel like

A:

A

: I consider

: Ms. Anderson

What are you going to do this summer?
to Alaska.

(@) go

(b) to go

(c) going

(d) being going

: We should check all the statistics again.

credible.
(a) it

(b) they

(o) itis

(d) them

: I called you several times last night.
: Sorry, I turned my phone off because I

was

(a) fed up with my girlfriend
(b) fed with my girlfriend up
(c) with my girlfriend fed up
(d) fed my girlfriend with up

: What are those empty boxes for?
We to London this weekend.
(a) move

(b) are moving
(c) would move
(d) have moved

Do you know why Thomson quit
his job?
He by a competitor.

(a) scouted

(b) was scouted
(c) has scouted
(d) being scouted

: Who is responsible for editing all these

manuscripts?

for a year.
(a) is that

(b) does so

(c) do that

(d) has been

16.

17.

18.

19.

20.

A:
: He is working for

A:

: They help you

What does James do?

(a) bank

(b) banks
(c) a bank
(d) the bank

: Huxley had sensational ideas.
: He

for his time.

(a) advanced

(b) was advanced

(c) had advanced

(d) had been advanced

It took me ages to get through all the
checkups.

(a) detect in early serious diseases

(b) to detect diseases in early stages
serious

(c) detect serious diseases in early stages

(d) to detect serious diseases early in
stages

: Is she keeping up the good work?
: Yes, she’s well ahead

schedule.
(a) on

(b) under
(c) with
(d) of

: The price of oil is soaring again.
: I can’t believe

(a) it has hit another record high
(b) that has hit record high another
(c) that hit another high record

(d) it hit that another record high
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Questions 21-40

Choose the best answer for the blank.

21. His business was deeply in the red,
_ Terrydecided to cut back on his
spending.

(a) or

(b) so

(c) but

(d) because

22, Jonathan found it very
calculating the first quarter budget for an
overseas branch.
(a) complicate
(b) complicated
(c) complicating
(d) to complicate

23. We visited the island and spent most of our
time and money never before
experienced adventures.

(a) seek

(b) to seeking

(c) seeking

(d) having sought

24. People vaccines for
chicken pox since the disease first
appeared.

(a) develop

(b) developed

(c) have developed
(d) are developing

25. The newsletter, let us know
about the president’s death, is issued
biweekly.

(a) what

(b) which
(c) whatever
(d) in which

16 STEP TEPS final - G&V

26.

27.

28.

29.

30.

the crime scene, forensic
scientists discovered that someone had
removed the body.
(a) Investigating
(b) To investigate
(c) Being investigated
(d) Investigated

Of the two candidates, the manager
decided to hire did better in
the final training session.

(a) whatever
(b) whoever
(c) whichever
(d) whomever

Jerrod offered us launch a
new restaurant even though he is very
busy running his own business.

(a) help

(b) helping

(c) to help

(d) helped

Please go over the document and tick the
yes box you agree with all
the statements.

(a) if

(b) though

(c) as if

(d) while

If the flight this morning,
we would have had to depart for Singapore
tonight.

(a) is not canceled

(b) were canceled

(c) were not canceled

(d) had not been canceled




31.

32.

33.

34.

35.

that all the life
within a radius of 50 miles could have been
wiped out.

(a) So devastating were the nuclear
weapons

(b) Devastating the nuclear weapons
were So

(c) Devastating so the nuclear weapons
were

(d) So the nuclear weapons were
devastating

you have driven to a
destination multiple times, it’s always
important to be aware of the road
conditions.

(a) Despite
(b) Even if

(c) As though
(d) However

Because P

analysts recommend utility companies.

(a) no all blue chips are making large
profits

(b) all blue chips are not making large
profits

(c) blue chips all are not making large
profits

(d) not all blue chips are making large
profits

The columnist was not as original as she
once

(a) is

(b) was

(c) has been

(d) had been

Our body can take in
when we heat red tomatoes with a
spoonful of oil.

(a) a lycopene

(b) little lycopene

(c) a few lycopene

(d) more lycopene

36.

37.

38.

39.

40.

Mrs. White had sent the complaint form

(a) right the goods were delivered before
(b) before right the goods were delivered
(c) the goods were delivered right before
(d) right before the goods were delivered

It is imperative that those who purchase
an item priced more than $400.00
it

(a) declare

(b) will declare

(c) be declared

(d) are declaring

An able person gives all his or her efforts to
the person is

now under.

(a) no matter achieve goals what

(b) achieve goals the circumstances what

(c) no what matter the circumstances
achieve

(d) achieve goals no matter what the
circumstances

The aspects of the human experience
general psychology, but
also the applications of it.

(a) do not merely cover

(b) covers merely not

(c) is not merely covering
(d) are not covering merely

15- and 30-year fixed-rate mortgages are
who do not

own a private residence.

(a) those the most popular choices

(b) still the most popular choices for
those

(c) the most still popular choices for
those

(d) those for the still most popular
choices
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Questions 41-45

Identify the option that contains an awkward expression or an error in grammar.

41. (a) A: I didn’t expect such terrible traffic

congestion.

(b) B: The city is paving the roads to spend
all the budget this year.

(c) A: We have already failed to be
punctual for the conference.

(d) B: It would have been better, if we take
a subway.

42. (a) A: Thomas seems to have social anxiety.
(b) B: What? He seemed to have no
problem when I talked to him ago.
(c) A: No. He always fears negative
feedback from others.
(d) B: Really? That surely explains why he’s
too intimidated to speak up in class.

43. (a) A: The flu is going around again these

days.

(b) B: That’s because it’s the change of the
season.

(c) A: You know, the whole finance
department is on sick leave.

(d) B: It couldn’t be surprised. I feel flu
symptoms coming on myself.

18  STEP TEPS final - G&V

44. (a) A: I stopped by that shop after getting

lunch yesterday.

(b) B: Every time I'd walked by there is a
huge line.

(c) A:Ibought a dozen assorted donuts
that everyone should like.

(d) B: I'd never had their donuts, but my
friends always told me how
wonderful they are.

45. (a) A: How was your day?

(b) B: Well, waiting for a taxi near work, I
witness a pickpocket.

(c) A: The victim didn’t even realize that
someone was sneaking a hand into
his pocket, right?

(d) B: Yeah, I saw his face, but I didn’t
know what to do about it in the
crowd.




Questions 46-50

Identify the option that contains an awkward expression or an error in grammar.

46. (a) To order online, simply select from our
online catalog, and we will confirm your
order within 24 hours. (b) All orders
submitted online must include your phone
number and email address so that we can
contact you once your order has been
shipped. (c) For your convenience, orders
may also be placed by phone, mail, or fax.
(d) Standard delivery for items ordered
online take usually 3-5 business days.

47. (a) The Day of the Dead is a holiday
celebrated in Mexico and by Latinos living
in the United States and Canada. (b) The
holiday is on November 1* and is not one
of sadness. (c) On this day, people gather
and go to their friends’ or relatives’ graves
with the favorite foods and beverages of
the deceases. (d) Scholars trace the origins
of this holiday to an Aztec festival
dedicated to a goddess called
Mictecacihuatl.

48. (a) Fossilization will only take place under
certain conditions. (b) The best condition
for fossilization to occur are where the
organism is immediately covered with
oxygen-poor sediment that prevents decay
of the organic matters. (c) For example,
volcanic ash or silty sediments in the sea
preserve it intact. (d) In contrast,
fossilization is unlikely to occur in forests
and grasslands.

49.

50.

(a) Type 2 diabetes, the most common form
of diabetes, are sometimes called adult-
onset diabetes. (b) Roughly 11 million
people in the United States between 40 and
74 are diagnosed as pre-diabetic. (c) This is
due to the growing number of older
Americans, as well as to increasing obesity
and lack of exercise among the general
population. (d) If left untreated, pre-
diabetes usually develops into type 2
diabetes.

(a) Hidalgo was a dedicated scholar who
had studied the writings of Thomas
Jefferson and the leaders of the French
Revolution. (b) His study of revolutionary
writings and the injustices he saw helped
convince of him that Mexico should be free
from colonial rule. (c) He also had great
sympathy for the poor and downtrodden
Mexicans, whom he worked for and earned
respect and loyalty from. (d) In 1810,
Hidalgo gathered tens of thousands of
Mexicans into his rebel army, and they
defeated the small forces of the Spaniards.
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VOCABULARY otoim

Questions 1-25

Choose the best answer for the blank.

1. A: Could you lend me a set of tools? I need

it to my computer.
B: Sure. Wait a minute.

(a) fix

(b) treat

(c) amend

(d) correct

2. A: Why didn’t Jane make it to the

conference?
B: She called me that the flight

two hours late, and she’s now at the
airport.
(a) took
(b) landed
(c) launched
(d) canceled

3. A: Ms. Lee was a great woman.
B: Right. She should have
her autobiography.
(a) signed
(b) drawn
(c) written
(d) depicted

4. A: Translating these dissertations is too

complicated.
B: You should

to do it.
(a) hire
(b) adapt
(c) accept
(d) promote

a professional
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5. A:1think I can cook better with other
frying pans.
B: Don't your cooking
utensils.

(a) pursue
(b) assume
(c) blame

(d) impose

6. A: Is only one piece of carry-on luggage
allowed on board?
B: No, but there is a size
(a) edge
(b) limit
(c) bound
(d) demand

7. A: Can you help with my assignment this
afternoon?
B:Sorry, I'vegotmyhands .
(a) busy
(b) full
(c) ample
(d) tough

8. A: Sorry, but Susan is not available now.
B: Please tell her to
(a) hold
(b) answer
(c) leave
(d) return

my call.




9. A: Steven’s Auto Service Center. May 1

10.

11.

12.

B:

A:

A:

B:

help you?
I'm calling to
job openings.
(a) squire

(b) require
(c) acquire
(d) inquire

Thank you very much for coming in
during the middle of your day.

: It's my pleasure. I wanted to

congratulate you on your birthday

(a) literally

(b) officially

(c) personally
(d) courteously

: Did Alex become the class leader?
: Unfortunately, the students selected

another

(a) elector

(b) candidate

(c) nominee

(d) representative

The cab fare to the airport is £40.
That’s really .

(a) pricey

(b) valuable

(c) immense

(d) enormous

about any

13. A: Are you going to Becky’s housewarming
party?
B: I'd like to, but I have a(n)
engagement.
(a) initial
(b) original
(c) previous
(d) primary

14. A: Can I transfer to the blue line at this
station?

B: Yes, two lines here.

(a) concord
(b) encounter
(c) transgress
(d) intersect

15. A: Today’s dinner is on me.
B: Thank you for your offer, but it’s too
expensive. Let’s pay .
(a) cordially
(b) separately
(c) particularly
(d) indisputably

16. A: I'm out of my league in terms of tennis.
B: If you keep practicing, you can
it.

(a) keep an eye on

(b) get the hang of

(c) come to terms with
(d) take advantage of

17. A: Oh, that bus almost hit you.
B: I know. I moved in

(a) the big time

(b) the fullness of time
(c) the course of time
(d) the nick of time
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18.

A: Is it true that your secretary straightens
out papers even when you don’t ask?
B: Yes, she understands the mechanism at
work. She always takes the
(a) priority
(b) initiative
(c) superiority
(d) achievement

19. A: Can I use this complimentary coupon?

20.

21.

B: Sorry, the
already expired.

period of it has

(a) validity

(b) warranty
(c) authenticity
(d) flexibility

A: I can’t wait for our camping trip
tomorrow.
B: Me, either. But a downpour is

(a) observed
(b) disclosed
(c) forecast

(d) overlooked

A: There were too many people in the
audience who made a disturbance
during the lecture.

B: I couldn’t even what

the lecturer said.

(a) drop off

(b) check in

(c) make out

(d) put through
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22.

23.

24.

25.

A: Can I ask you about interior decoration?
B: Sure, it’s a subject that never
___ tointerest me.
(a) fails
(b) beats
(c) quits
(d) defeats

A: Monica tries to bother you all the time.
B: Maybe she is carrying out a personal
_ againstme.
(a) apathy
(b) adulation
(c) vendetta
(d) sobriety

A: Was that novel affecting?
B: Yes, it made a(n)
impression on me.
(a) indelible
(b) eradicable
(c) flamboyant
(d) incognizant

A: This restaurant is expensive, but it really
fills the bill.
B: You're right. The food is so
that I think it’s out of this world.
(a) exquisite
(b) insipid
(c) devout
(d) peculiar



Questions 26-50

Choose the best answer for the blank.

26. passed by the U.S. Congress
cannot become law until the president
signs them.

(a) Bills
(b) Files
(c) Forms
(d) Checks

27. After the shop closes, all clerks
the floor with brooms.

(a) steer

(b) smear
(c) sweep
(d) polish

28. The company boosted its sales thanks to
having a temporary

(a) turnover

(b) promotion
(c) appreciation
(d) coverage

29. It is stated that the library can purchase
new publications with government

(a) funding
(b) finance
(c) pension
(d) subsidy

30. A news anchor was fired from his job just
one week after he filed a sexual
compliant against his bosses.
(a) distribution
(b) discrimination
(c) dissemination
(d) distraction

31. among American youth has
rapidly increased owing to unhealthy diet
and lack of physical exercise.

(a) Obesity

(b) Anorexia
(c) Autism

(d) Pneumonia

32. Retailers are forced to the
risks of lead in their products for the sake
of public safety.

(a) surge
(b) disclose

(c) outlook
(d) convince

33. The boy underwent brain surgery, and the
of recovery is much faster
than expected.
(a) rate
(b) degree
(c) extent
(d) portion
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34. Public involvement and motivation fade
when corruption and injustice spoil the

spirit of within a community.

(a) crudity
(b) morality
(c) integrity
(d) solidarity

35. Aborigines who arrived in Australia about
60,000 years ago were the continent’s first

(a) colonists
(b) inhabitants
(c) aggressors
(d) advocates

36. The newley appointed professor was
accused of in his thesis.
(a) plagiarism
(b) piracy
(c) pilferage
(d) extortion

37. Recent advances in electronic engineering
have the role of librarians.
(a) assigned
(b) operated
(c) portrayed
(d) redefined

38. Most farmers in the Middle Ages wore
very simple garments made from home-
woven

(a) flaps
(b) fabric
(c) lumber
(d) leather
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39. RUDSETTI aims to help society to
poverty and illiteracy.

(a) cosset

(b) litigate

(c) eradicate
(d) implement

40. Gerald borrowed a from the
landlord after he dropped his keys in the
gutter.

(a) piracy

(b) duplicate
(c) photocopy
(d) redundancy

41. Tens of thousands of birds are roosting
in downtown Wichita before their
to South America.

(a) deportation
(b) transaction
(c) migration

(d) locomotion

42. This hand cream makes
hands things of the past, and keeps your
hands moisturized even in the winter.
(a) damped
(b) chapped
(c) soothed
(d) flushed

43. For the past 20 years, the of
AIDS has haunted the lives of not just
Swazi miners, but also Swazi migrant
workers.

(a) peril

(b) boon

(c) tingle

(d) surmount



44,

45.

46.

47.

48.

Universities become top-tier schools by
respected professors to join
their faculty.

(a) rebelling

(b) courting

(c) persecuting
(d) transfiguring

This plastic material is so
that it promptly springs back into shape.
(a) malleable
(b) resilient
(c) stout
(d) flaccid

The prosecutor’s questions made the
witness so

(a) assuaged
(b) vibrated

(c) placated

(d) rattled

English writer John Creasey was
by publishers 774 times
before selling his first story.

(a) refuted
(b) rebuffed
(c) retorted
(d) relapsed

Vehicles manufactured in 2002 should be
inspected to ensure
emission standards.

(a) execution
(b) inception
(c) compliance
(d) temperance

that he got upset.

with the

49. The proposed development would
from the rural character

of our community bedause of its size
and bulk.

(a) deter

(b) detract
(c) degrade
(d) desecrate

50. The large corporation was determined to

38 square miles of land from

the West Sea and convert it into Korea’s
largest mechanized rice farm.

(a) reclaim

(b) revive

(c) refurnish

(d) replenish
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(1) MO FTIGE MFE| IEB BI| o

A: Can you help me reach Mrs. Johns?
- B: Sorry, but | don’t know her phone number.

— U=t O|F0fX|T A= & &&0ilM B7F Johns MQf & é%tﬂé% G217 Uof = ofolS BHeHoF BT, SXi AIKIE MoF BT AlXl 2X9)
7122 AA0] Lofit Aol St= SHIE AlMl SAE 2= AYUCh

(2) TIEHGOIBEHERIGETIN ... s

A: Wasn’t Tom supposed to transfer to another department?
B: He isn’t leaving this office until next Monday.

(3) QERGIORO| LEERLHE AIZERR TROFSEZ] o E

The president was still angry about a series of demonstrations that had caused serious traffic
- jams the day before.

— A=22 7I2 A S0l ofgrtn oiAXlE 23, Aol ofs] o F M2 & SHEUCL SiEet SX, 2zt 149 2Fet Ai0]
S mfefstn 22 TA9 AlHo[2tE o Zi0] BN LoiRt=UE MAEE 0] SREUCH

FHERJEH 0 B4 AR, AIZERQL BARH ALK QO] TPQFSEF| oo

A

. A: How’s the food in your company’s cafeteria?

B: It’s terrific. We can taste various kinds of food.

. A: Is that s0? | wish | had the same thing in my company.
B: That would be nice.

= 712 AlA| ojelofl E4 AMIE E= 7HgEn A EXlE Holelt s&UTh §
SLICE 7R ARPER 712 AMIECE 8 AlHl &M AIMIE Z2fsiiAf Aot il
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CHA AR

A Y (Present)

Ml AMl= XIZQ e OAHEE #3e of AH, C2u 22 8YE 71Ut
(1) Bzl gh=xol gt

My boss skims The Times every morning. Ui Ae ofzloict EfRIxE 9f=rt

Joan waters her cactuses biweekly. Joane 71149 MOIAt0| Zz0f 5t H 22 ZCt
(2) 2ol Tla| £= |

When cooled, vapor turns into water. Wztz|s 4+57|= 20| =t

ome energy comes from the fusion of atoms. xi=0| g5t EWNY; it

S fi the f f at == FEH OfAXIZt 2 Ay atct
(3) SiROl AEf i UBHOl AR

The real estate belongs to Mr. Trump. 2 2=AS Trump M AR0(C},

Spaniards have a short sleep, called a siesta, in the middle of the day

AHQI AFES SHL0f "AlOIIAEF 2t A2 M Tt
(4) O|2| A=E oLt AAIFE 4ol UF

| have a conference next Thursday in London. Li= oS & 29 2Eo|A 2 /97t 9/t

The next flight to New York departs at 9:30 pm. 2oz Jt= ctS b

|7 1= gf 9Al 30201l T

[
=

B 7 (Past)
I AFlE o AMY TEE 71222 5tH, 12| SHO|LE HEEE S, B7H Q| ARMo|Lt HEf S LIEHHLICE
Fo Y2 O30 ZEUL
(1) 2t74of| ojo] A=E &
| finished writing a proposal for my thesis. L= =2o| xjot sm= 2 it
Thompson attended the committee for two years. Thompsone Zlof| 213 =0t 71 Qls(of Z7i3ict
(2) SAHE A
The Korean War broke out on June 25, 1950. st= &2 1650 62 2520] Ll
In 1811, Hidalgo was captured and executed. 1811 5|Z= A L0 AFEERICH

0|2 (Future): will+ SAFYY
ZSAE will(~

(1) olzHoll Loie
This rain will last at least two more weeks. o] vj=

o2 Adls =2 g Aojch2 MA LIEHNO, Dfzfjoll Loi

x4 25 S0t

=2 Al

After September, we will have a new administration system. 9o|

Which train do you want to take? — We will take the 6:00 train. — Zo{2| o
0l 7IXIE Eb7| ®5t? - f2l= 6Al 7IXFE ERICE

=AM E=

(2) ItAH would (B&H EE
Charlotte said that she would go to Europe to study cooking. ch
| didn’t ask her when she would return to Korea. L= a140j|] 2ix|

ZHR5}E)

2= 02| oiEshM 2sts gZol U
&2 Zo|ct
X|ute 2 W HEE W 2 Zolck,

P2l Mz
f

|X|: ~5

HC

arlotte | CZ R2|E HiR2 7HICID LUsiC

g=ez =02

.

-{ oror[

5 An

x| S0{EX]
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A BiZtoll S0i717|0f 7HE MESH ZS TEML.
1. | found the beans much of the water in the bowl overnight.
(@) soaked up (b) will soak up
2. The neighborhood bus this stop beginning next month.
(a) passes (b) will pass
3. The politician the public for the last 17 years.
(a) serves (b) served
4. Randy such a shy boy that he couldn’t get along with his peers.
(a) was (b) will be
5. After finishing this project, we on a long vacation.
(@) went (b) will go
6. Did you know the reason why Mr. Smith suddenly to Philadelphia?
(@) moves (b) moved
7. The number of HIV positive people by 10% in 1999.
(@) rises (b) rose
8. The expected flood the crops on the land every year.
(@) ruins (b) will ruin

t2, S2[H HEA XM L.

t

ol

B 2z 2 220|2oH QR

1. Brenda makes fun of my new sweater this morning.

2. Sorry for being late yesterday. | won’t intend to do so.

3. Everyone voted in favor of the bill in the near future.

4. Now, we were all set to take to the road. Let’s leave!

5. The next meeting will be on July 20*. Refer to the handout.

6. The heating bill comes to 1,650 dollars last winter.

7. I'm not familiar with my neighborhood. | just came here a month ago.

8. | have to handle my job and child care at the same time next year.
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Mini TEPS Test Time: min. / 7 min.

Choose the best answer for the blank. 6 Robin quit the job because his boss
him to do a lot of his personal

1 A: Anything to declare? errands.
B: Yes, | more than $4,000 in (a) requires (b) required
the DFS. (c) is required (d) was required
(a) purchase (b) am purchasing
(c) purchased (d) will purchased

2=1s0lll Identify the option that contains an
awkward expression or an error in grammar.

2 A: Who are those people waiting in the

reception area? 7 (a) A: Did you hear Daisy would get married
B: | have no idea. They unfamiliar soon?
to me. (b) B: No way! When did she meet a guy?
(a) are (b) were (c) A: Her best friend arranges a blind date for
(c) being (d) will be her, and they have been dating for 3
months.

(d) B: I can’t believe it. She always said she
gave up dating.
3 A: Do you exercise regularly?

B: Not now. But | when | was a
teenager.
(@ am (o) d.o #=1edld Identify the option that contains an
(c) did (d) will be awkward expression or an error in grammar.
8 (a) The Underground Railroad was secret
routes used by 19" century black slaves in the
2=l Choose the best answer for the blank. United States. (b) The slaves escaped to
Canada with the aid of abolitionists who were
4 Anyone who has inquiries to email strongly against the slavery system. (c) Other
me later. various routes lead them to Mexico or
(a) is asked (b) was asked ov<'—:‘rseats. (d) The Underground Railroaq was
(c) asks (d) asked at its height between 1810 and 1850, with
over 30,000 people escaping from
enslavement.
5 Meteorologists a conference

yesterday to discuss today’s unpredictable
climate conditions.

(@) hold (b) are holding
(c) held (d) will hold
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A BIHXISH (Present Progressive): beZ-At+~ing

oII

FIO
0z
e}
i
I:t|
|'u0|I

ATt ot Xl AIZol o SZ0|Lt Alzdo] Tl S0|H, OF&! E0tX|X| & b Huch Ha
ATN7E Hiloh= YHPHQI AFMO|LE TR BdfE MKz RELICL
(1) Sx4 3 01 gso|Lt St
Mr. Lee is talking on the phone now. Lee M= X2 &at Zo|ct
He doesn’t usually miss the meeting. 1= @Ao0f 5[o/of x| x| QH=rh —TAO| ApA
(2) 3 A HEf = AT SY (XHF HEt 7tsH =)

Jessica and her husband are living in New Jersey. Jessica®t 1149| HHS =xix|of Atct
We live in New York. — 1l7{o|= &xfjo|= &4t 22ick= o|o|

Frank is just being sentimental today due to the rain. |7} 2L Frank= @5 A2 ZHAxlo]ct
(3) 72l 2d=Ql ojzy
My boss is coming back to the office tomorrow. v Atz

ro
=
ne
>
40
>
fu
i
o
o
N
=)
o

We’re having dinner with our son-in-law tonight. <ej= @5 2 Ajglet XU 22 Ziolck

(4) T=|D = FEIFQI HElLE TN
The price of oil is going higher and higher all around the year. S7t= 1= =& @21 ot
Things are becoming more serious each day. Afeff= A[7t0] 242 F7 AZsHx 1 QUCk

B 2t7XI% (Past Progressive): besAt 2% +~ing

-0
AT A EF AIZ| T SOIUH AIMS B 1f MM, O LO| EX=XIQ HREE F25| & 4 UFLICL

ol

(1) AL oA Aol z1g So|H &S0l S&
They were drinking coffee at 10:00 am yesterday. 252 ofx| @7 10Al0f FHIZ OfA|T

9
£Q
o

| was passing by the crosswalk at that time. L= T 7222 xjLztn QI9ick
(2) 2710l SAloll Lofit = 7ix| LS MHE 0l (2 & siLi= ZA)
My secretary was leaving the office when the siren rang. Ui tlAd= Afoj2lo] 22 @f ARAS LT QJQiCt

The students were working in the lab when their professor came in.
w40l SORE mf SHMSS HFHollA SEatn UUC
(3) T LF AlZH S AKHSE AoHEH U
Tom was arguing with his father all evening. S x4 UL ofHX|9f =/ 2ol QUi
Women were fighting for human rights for the past 200 years. o{4=2 x|t 2007 Q1HS sl ML

C DI2{XI%H (Future Progressive): will be+~ing
Ojaiel of AlEoll X3 5 L2 olME i MH OZHE LIEtE 3 AZOILE AI™Q| ESE SHIFILICE

We will be flying to Alaska at 2 pm tomorrow. LY @5 5 A= fel= g2 efn LajAdtz Jtn 9l oot

The government will be continuing the campaign for the next 2 years.
AFE oW Set "MeEs 1 doels ALl Lz Zolch
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A izl Soi7L7|o 7HE MESH XS TENL.
1. Sarah changed a lot. She so hard now.
(a) is working (b) was working
2. The kids the match at 7 pm tomorrow.
(a) was watching (b) will be watching
3. Cicadas off their shells in early summer.
(@) cast (b) are casting
4. | the document when the manager called on me.
(@) am typing (b) was typing
5. The Gulf War in 1991 between Irag and the allied military.
(@) occurred (b) were occurring
6. These days the economic condition of the country worse and worse.
(a) was getting (b) is getting
7. He for the prime minister at the main gate of the National Assembly now.
(@) waits (b) is waiting
8. Sorry. | can’t join you to go to the ballpark this Sunday. | usually for my aunt on Sundays.
(a) babysit (b) am babysitting

B u=

r

S20| e O # stu, S2|™ HIEA IX|ML.

1. He parks his car in the underground garage right now.

2. My parents are coming to Seoul this Saturday.

3. We were picking apples in the orchard next summer.

4. When the CEO announced the news, all are sitting in the auditorium.

5. Cathy lives in Seattle, but now she visits in Detroit.

6. The poverty in this city will be getting better in the next two years.

7. 1didn’t hear the bell. | was in the darkroom developing films.

8. | thought I'll propose that Susan marry me at the end of the year.
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Choose the best answer for the blank.

1 A: What is Mark doing now?
B: He out in the gym.

(a) works
(c) worked

(b) is working
(d) will be working

2 A: The water from the pipe. Can

you fix it?
B: | don’t think so. Let’s get someone to fix it.
(a) leak (b) leaks
(c) is leaking (d) will leak

3 A: How does David feel today?

B: | heard his condition
(b) will be improving
(d) being improved

(a) was improved
(c) is improving

=15ell Choose the best answer for the blank.

4 These days too much drinking
one of the major causes of traffic accidents.

(@is (b) was
(c) was being (d) is being
5 Yesterday, the girl a muffler

even though the weather was very hot.

(a) wears
(c) is wearing

(b) was worn
(d) was wearing

38 SectionI- Grammar

Test Time: min. /7 min.

6 Glaciers at both poles due to
global warming.
(@) melt
(c) are melting

(b) being melted
(d) will melt

==1e0lll Identify the option that contains an
awkward expression or an error in grammar.

7 (a) A: | had terrible nightmares yesterday.

(b) B: | heard dreams are occurring when our
brain is working to solve our problems.

(c) A: Actually I've worried so much about my
graduation exam.

(d) B: No worries. You will be working in a
good company next spring.

=:1e2ll) Identify the option that contains an
awkward expression or an error in grammar.

8 (a) Ted, | write this letter to tell you that |
would like to appreciate. (b) The flowers you
sent to my wedding were incredibly beautiful,
and everybody there liked them very much.
(c) I should’ve thanked you that day, but you
know, | was a bride, and was very busy and
distracted. (d) Anyway, thanks again for your
kindness, and let’s hope to see each other
soon.



A BIHLLE (Present Perfect): have/has+p.p.

Six2tEe= o|Tof Uoit Aol &ixl XIg AIE7IX] Fet2 0lx|
o

—
K| oloiX|E =EHel A= AsUC

H

rr

yehes

(1) AH2RE A% o|o{X 2 MEf (2 AEES LEHHE since, XI& 7|2t LIEHHE fort 3 &
| have lived in Seoul for 9 years. Lt= 9&mf A20 A1 9/ch

1=
1153

My father has been a professor since 1990. Lto| oft{xl= 199014 0|F2 2 W4-0[AlC
(2) ofEf7IXI2] B (27 LOIX|2H SHANTIX|S| HEe2 #wFe )
Laura has appeared in a movie before. zet= o|=o| Gsto| %5t =o| Uct
The students have been to Japan and China. sise = =20 7t2 o] 9/t
(3) &2 E= |20l AZE HSO|LE A (FAf just, already, yet S1t 55 & M)
Mr. Goodman has just finished signing the contract. Goodman M= g2 Q
Have you done the task that | gave you an hour ago? L7} &t A7+ Ziof
(4) ZHOIMEE Sxfoll 0l2= EF AlZt S O|R0M 22 E
The stock price has doubled in the last three months. 2 zAlo] 71240 x|t 32 Afo| & 7t ZSC)
Travel has become the major industry in the country within a decade.

104 Lol g2 1 L2tel 2 Aol =[RACH
A HMAR XI%HY (Present Perfect Progressive): have/has been+~ing
Sixfs 22 AR 71250l ools EX(T HAHUMEE ZIME0 2 MEf7t SIE A D2iol=
= 20| olE W, 22|1 HARE AZE S0| R0l 6T E Fol2k= 2l0|E LIEHS mf &Lc,

| have been working for a bank for three years. Li= 2&t0)A 3Em Lsie QICf »oozs a2 #ak= on|2 Lz

K

Kevin has been writing a romantic comedy. Kevin2 20| [0|C|2 i} M= Z0|Ch — ot ZUx| 2342

B 7%= (Past Perfect): had +p.p.
AREE EF 0t AIFEC o o|Fo]| Yot US EHE uf HLCh

She had already gotten on the plane before we arrived at the airport.
Jd= a7t 0| =2fst7| ol olo] HI&7|of ST,

The man had traveled to Australia before 1980. 71 Uxl= 19801 0|0l 52 o3 Z4ich

B’ 7otz XIgHy

i st Perfect Progressive): had been+~ing
npE TS

(Pa

E7-st 27| Atzio] LojLi7| OJF UH A2t SO XS=H LS B mf HLch
Chris had been trying hard, so he entered law school.

Chris= 012 Z&I5] s AU [0f st chatlof stsict,

| had been planning to go to Paris before | took on this project.
L= o] Z2NEZS 27| ©oj| mielof 7= A2 Al”lsta UE S0IULC

C 0O/2i2t2 (Future Perfect): will have+p.p.
D2 &Z2= o AtZ10] O2He EF ARZIIKIE 222 WS ol4fstod 7Lt Oj2ie] £ AT Al XI&E=
EiE oil&otod &LICh
| will have finished this paper by 6 pm tomorrow. Lt= L2 25 sARlE 0] =22 24 Ziolc},

At the end of this year, | will have dated my boyfriend for 1 year.
2ol Lol =¥, L= W gXREStet 1Em GiojES o Zi0] 2 Aol

g o SUct =, TANMEE Hxi

1=1
=

Y
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C' D|2f@tE XIBH (Future Perfect Progressive): will have been+~ing
Djei= M2 Sk gtExo= AojLi= Aol O[2He] EF AEMKIE XISH2E 0|R0{E AS olAsI0] &LICt,
Next year, Eve will have been living in this apartment for 5 years. Ljido| Eve= 0] ofatE0| 5 EM A1 9l Zo|ct

He will have been driving for 10 years next month with no accidents.
Chs 2ol2 2 fAFTZ 10E 2856t 9l Zolct

A E1Zholl Soi77]of 7hE MESH g D2MQ.
1. 1 Tommy all this morning.
(@) don’t see (b) haven’t seen
2. Since the scandal, the senator careful about meeting outsiders.
(@) was (b) has been
3. | for the faulty MP3 player yet.
(a) don’t get a refund (b) haven’t gotten a refund
4. She has been able to do multiplication since she four.
(@) was (b) had been
5. By this time next year, the kids all from high school.
(@) will graduate (b) will have graduated
6. When | lived in Missouri, there nothing to do on the weekend.
(@) was (b) had been
7.1 in finance before | transferred to this department.
(@) has been working (b) had been working
8. | have been studying psychology for four years, and next year, | it for five years.
(@) will be studying (b) will have been studying

B 2z

r

FE20| %eH O # 5k, S2|H HIEEA IX|NL.

1. | suggest that you go to see a doctor for more than a week.

2. Did you hear that the groom ran away from the bride that night?

3. Teresa will have lived with the poor children for three years next month.

4. It's already midnight, but the flight expected at 7:15 pm didn’t arrive yet.

5. The apple tree has grown tall this summer.

6. How long have you been working for this hospital?

7. He has been drawing the woman since he had first met her .

8. | am drinking a lot of alcohol every night before | got the disease.
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Mini TEPS Test Time: min. /7 min.

Choose the best answer for the blank. 6 since our office
relocated to the Gangnam area.
1 A: Was the murderer captured at the scene? (a) It's five years almost
B: No, he by the time the police (b) Almost five years
got there. (c) It was almost five years
(@) has left (b) was left (d) It's been almost five years
(c) would leave (d) had left
=1uillll Identify the option that contains an
2 A: Did the boys see the cartoon on TV last awkward expression or an error in grammar.
night?
B: No, they straight to bed 7 (a) A: Did you hear that Richard got
after bathing. promoted?
(a) went (b) was gone (b) B: No way! | considered myself a promising
(c) have gone (d) was going candidate this time.
(c) A: He had been working so hard for several
years.
(d) B: I don’t believe it. How can they decide
3 A: How long have you run this flower shop? such a thing?
B: Next February, | this
shop for 20 years.
a) have run
b) have been running

#:1e0l/ Identify the option that contains an

(
(
(c) will run . .
( awkward expression or an error in grammar.

)
d) will have been running

8 (a) UT Electronics manufactures and sells
everything pertaining to home electronic
appliances. (b) It is located on Main Street in

Choose the best answer for the blank. Chicago in its own building. (c) It had been in
business over 7 years, and is now preparing to

4 D.H. Lawrence’s last novel Lady Chatterley’s launch its online shopping mall. (d) From next
Lover made into movies month, customers can simply choose from its
several times. online catalog, then click to order any goods
(a) did (b) were they want to purchase.
(c) has been (d) have been

5 Finally | my cell phone in the
back seat of my car after searching all day.
(a) find (b) found
(c) had found (d) have been found
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A AIZE] ELAPH (Dj2f): GAR§ AIKI7} O|2HE cHAISH

AZHS LEt= SARROIM= 0f2f 2loj2t siefate B AIRIE AtZsl ESIELICE whent OtL|2} once, as soon

as, after, by the time, until S0| 0|T1= HO|Lt X742 LiEtLl= if "OIAZ SHA| O[2i7t SRHE CHAIBILICE
(1) when/if 20| O|2HE 28 off (FHE2 0J2 AlA|)
When Robert finishes his work, he will call me. Robert7t 22 ZU{H Lio|A| &st&t Zio|ch

If we get more than $5,000 per month, we will buy a car. 22|= st Zoj| 50002 0|4 &

N

d

2 o, XE & Ao|ck,

(2) 2 2l once, as soon as, after, by the time, until S
Once people leave their own country, they will suffer from nostalgia. 2ot AlZS2 122 MU SiaES ZA=rt
As soon as | receive the invitation, | will reserve a flight ticket to Cannes.

2ZYS LXIOMR], Lis Zed g1 ES ofefe Ao|ck

B olzet ot

—_

g 5
Dlziet 2HEE HFE SAS2 AlM(of UM FelshoF Lt

(1) go, come, start, leave, arrive S2| 2=t SAF (0|2 AIZO|X|ZH SHXH A|X])
The airplane leaves soon, so let’s go to our gate now. d|giy |7t 2 mLtc) o[ HOo[E& i},
The new baseball season starts next month. Mz2 ot A|Z0| CtS Zofl AJRf=C)

(2) expect, hope & S4EH0| 0j2HE SHtshs SAt (that® 0lsk= 02 AlX| / toRHALZ X 7HS)

The public expect that the president’s approval rating will decline. =01se ti£&0| x|x|=7t Doz Azt ofAfstn Qlct,
=The public expect the president’s approval rating to decline.

| hope that you will get accustomed to the new environment as soon as possible.
L= U7t 7kset el A 2Z0i A=sixZ Hiefct
C 713 (Subjunctives)
AMdo] ofd E45t &S JHEE tie 7IEEHeE HHELICH 7FEH2 8ol w2t Alxel ALZ0| i 7ICHE7| mEo
o

=
ZolsloF BiLICH FHE2 If2 AIZSHH, S4E0l= would/should/could/mighte] ZSAE &LICH

2
=

(1) 7F48 17 (SixHoll AtAlO] OH:l Z42 J7HEE m): If+S+were/ T8 SAL S+ ZSAH+ SAIEEH
If I had an opportunity, | would go to Canada. o7 7|57t QIChH FHLichof 2+ Hi),
If my grandmother were alive, then she might send me a Christmas gift.
SIHL|ZH HOPAAERI, LAl S2|A0tA MES HLiRY Hi,
(2) 718 ot 2= (Ao AFAO| OILIRAE S 7HEE m): If+S+had p.p., S+ ZSAt+have p.p.
If he had known the truth, then he would not have left her. tror 17} T AMAS UtCHH THE mLIx= 22 Hi,
If she just hadn’t gotten on the plane, Nina wouldn’t have died young.
NinaZ} 21 HIZ#7[2t ELX| §QlC2tH, A2 Ltolof A 4QtS i,
(3) 71 ojzf (S Oj2 AAES 71YE f): If+S+were+to 2 ™AL/ If+S+should+ SAIEEE, S+ XA+ SAIHE
If it were to rain, the company outing could be cancelled. 4| t|7} @t 3[4} 0FR&l= FAE £ Q)
If he should transfer to the New York office, then he would live apart from his family.
27t 52 XARR I S0, JES3 Woix A Zolck
(4) 2 788 (OF8Y ot 2=+8RHel 4&): If+S+had p.p., S+ ZSAH+ SAIEE
If Mike had quit smoking, then he could live happily with his wife now.

Mike7t HHIE BRACIH, XIS2 Ofuiet d=ciH & 4 US Hiol,

%I'

SRLE 20| o Yol O|ROIX|H AWSt= EEUM= | wish / | would (rathen& AMSEILICE wish 2t would Flol=
2YSH= LIE0| O|KX|=C, 7FIHat OREIZIXIZ XH AFE2 2bA, 3HA AMM2 02 LIEHALICE

)
b

0
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(1) 1 wish (that) S+1t7/17{2t2
| wish that sports car belonged to me. x| Am=71J} L Ziol2tet £2 Hig|,
| wish | had taken the job and moved to New York. w7t 7 22 2ot 5202 U9iHaiH 9t

mjo

e

(2) 1 would (rather) (that) S+ 2}7{/ 12tz
I’d rather | went to Germany to study engineering. Lt= Zst2 uj2e| S2of 7Hte Z7ck
I would rather my husband had studied medicine and become a doctor. JmHo| o5t2 Z=sf OA} ZQiCHH £9F

A

1.

. As soon as the rain stops, we will go down to the bus stop.

BIZtofl SO{7E7(0fl 7Fe ZESH AS DEMR.
If | had fought in the war, then | a medal.
(@) would receive (b) would have received
John, what will you do when you from college?
(a) graduate (b) will graduate
| wish | a new laptop with updated functions.
(@) have (b) had
Let’s hope that the cargo to China safely on the ship.
(a) will get (b) would have gotten
If I had one million dollars, then | an island in the Pacific.
(a) bought (b) would buy
The train at a quarter to 4. It’s already 3:30 pm. We should hurry.
(a) leaves (b) left
Can | keep watching TV in Jessica’s room until she back from work?
(@) will come (b) comes
If he had two sons, he one of them a lawyer.
(@) makes (b) would make
LE 7l 2E20| e O &# st, E2|H HIEEH DXML.

I’ll feel terrible if anyone laughed at my acting in the movie.

| wish | was able to meet the singer in person.

If he had informed us of his wife’s death, then we would go to her funeral.

After you’ll get to know every step, you’ll better understand the process.

| expect the sales of this game console soar during next season.

Once you move to this town, you never leave it.

. The seminar starts at 2 pm tomorrow in room 202.
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Choose the best answer for the blank.

1

2

3

A: 1 don’t know what I’'m going to take this
semester.

B: If | were you, English
Literature 101.

(@) I'll take (b) I'd take

(c) I'd taken (d) I'd have taken

A: Where are Sarah and Jessica?

B: When | them, | will tell the girls
to go find you.

(a) see (b) saw

(c) will see (d) had seen

A: What would you have done if your son
school at that moment?
B: Well, | think | would have totally lost my
temper.
(@) quits
(c) had quit

(b) has quit
(d) would have quit

il Choose the best answer for the blank.

4

| would rather Dorothy and her husband

a
b
C
d

=

won’t get divorced
don’t get divorced
haven’t gotten divorced
hadn’t gotten divorced

-

(
(
(
(

=

By the time he back from
China, his secretary will have finished a list of
all the calls that arrived in his absence.

(@) come

(c) will come

(b) comes
(d) would come

A4 Section - Grammar

6

7

8

Test Time: min. /7 min.

If Ms. Thompson had taken the job offered in
Sydney, she in Australia
now.

a) may work
b) may be working
c) might be working

(
(
(
(d) might have worked

==1e0lll Identify the option that contains an
awkward expression or an error in grammar.

(a) A: What did you do for your first wedding
anniversary?

(b) B: My husband and | went to Hawaii, where
we had gone on our honeymoon.

(c) A: That sounds very romantic.

(d) B: | would rather go to Jeju island or some
other domestic area.

2:1a0)) Identify the option that contains an
awkward expression or an error in grammar.

(a) Stephen King’s The Shawshank

Redemption was made into a film in 1994. (b)

In the movie, by digging a tunnel, Andy
Dufresne plans to escape from the prison

where he has lived for 19 years. (c) His long

desire for freedom finally leads him to
sunshine in the Pacific. (d) If he were caught,
he would have never realized the power of
hope.



Unlt REViEW TeSt Test Time: min./ 10 min.  Result: /20

Choose the best answer for the blank. 6 A: | want to continue my studies in graduate
school.
1 A: McGregor’s new movie is coming to B:If a chance, I'd love to do
theaters. that as well.
B: | it in London last weekend. (@) had (b) will have
(@) saw (b) see (c) have had (d) would have
(c) will see (d) had seen

7 A: Someone spilt oil on the floor. It’s greasy.

2 A:When is our project proposal due? B: 1 that. We should watch out.

Bilt by next Wednesday. (a) don’t know (b) didn’t know

(@) has done (b) is done (c) haven’t known  (d) hadn’t known

(c) will do (d) has to be done

8 A: Are you sure the meeting on

3 A: This printing machine is a little bit strange. time today?

B: It seemed to be okay when | it B: Don’t worry. It always does.

last night. (a) started (b) will start
(a) use (b) used (c) will have started (d) has started
(c) have used (d) had used

Choose the best answer for the blank.
4 A: Do you know where Mr. Anderson is living
now? 9 The DNA test confirmed that the brothers
B: 1 touch with him since last year. to the same mother.
(a) don’t keep (b) didn’t keep
(c) haven’t kept (d) hadn’t kept

wasn’t born

wouldn’t be born

hadn’t been born
wouldn’t have been born

a
b
(©
d

~ = =

(
(
(
(

=

5 A: How did you like New York City?
B: The most enjoyable thing

reading various magazines in Barnes & M She  from diabetes before
Noble. she turned out to be HIV positive.

(a) was (b) were (a) suffered

(c) is being (d) are being b) would have suffered

(
(c) has suffered
(d) had been suffering
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11 Last night a candlelight rally ZIsdlll Identify the option that contains an

the previous president. awkward expression or an error in grammar.

(@) in honor of is organized

(b) had been in honor organized of 17 (a) A: I heard you are not at home when the

(c) was organized in honor of robber broke into your house.

(d) has been organized in honor (b) B: Yes. It was a good thing that | went out
to the bank.

(c) A: The robber recently has tried another
theft in the neighborhood.
(d) B: Really? We need to take quick

12 My husband and | into
measures, then.
a new apartment very close to our work
tomorrow.
(a) are moving (b) are moved
(c) were moving (d) would be moving o )
18 (a) A: Are your driving lessons going well?
(b) B: Well, | think | have difficulty making
U-turns.
(c) A: Didn’t your instructor teach you how to
13 Trained workers that they are do that?

able to deal with a series of high-risk tasks in
a systematic order.

(d) B: He does several times, but I'm still
lacking in confidence.

(a) are shown (b) were shown

(c) have shown (d) will be shown

==lutA4 Identify the option that contains an
awkward expression or an error in grammar.
14 Thanks to the study of stem cells, those who

have been ill with incurable diseases now 19 (a) Terry found himself lost in the woods.
a little hope for survival. (b) He decided to hitchhike, and walked
(a) have (b) had toward the roadside. (c) A truck with an
(c) are having (d) would have had enormous speed has just passed him as he

was standing beside the road. (d) He
wondered what kind of emergency made the
truck go at such a fast speed.

15 If my elder sister had gotten married to that

talented guy, her life

devastated like it is now.

(@) is not (b) will not be 20 (a) Many believe that making and using tools

(c) would not be (d) might not have been is the main forces in evolution. (b) The idea
actually has been modified since
paleontological finds have shown that apes
both use and devise tools. (c) Now the
emphasis is on the human use of tools as
weapons for hunting. (d) This brings us to man
the hunter, who had to invent not only tools,

16 In the past, women didn’t have many civil
rights such as the voting right which they

nowadays. . N
] but also the social organization that allowed
(a) did (b) have done . . .
him to hunt big animals.
(c) have (d) had
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Actual Test 1

GRAMMAR

DIRECTIONS

This part of the exam tests grammar skills. You will have 25 minutes
to complete 50 questions. Be sure to follow the directions given
on the sheets.



Questions 1-20

Choose the best answer for the blank.

1. A: How do you like this sofa?
B: That’s
(a) I exactly wanted to have
(b) what wanted exactly to have
(c) what exactly I wanted to have

(d) exactly what I wanted to have

2. A: Why did you accept the job offered in

LA?
B: Well, the job a good

salary.
(a) guarantee
(b) is guaranteed
(c) guarantees
(d) was guaranteeing

3. A: Can you finish making the
questionnaires by Friday?
B: I'm not sure, but I'll certainly
(a) trying
(b) try doing
(c) try todo
(d) try to

4. A: Did you do well on the placement test?
B: Not really. Some of the instructions
to me.

(a) are puzzled
(b) were puzzling
(c) puzzle

(d) have puzzled

5. A: Why did Mary break up with her

boyfriend?
B: Her mother religious, she

wasn’t allowed to date him any longer.
(a) was
(b) to be
(c) being
(d) having been

186 SectionI- Grammar

6. A: How should we choose the right person

10.

B:

A:

A:

from among the applicants?

Itllbe  is most experienced
and competent.

(a) whoever

(b) whichever

(c) whatever

(d) whatsoever

Joanna’s health condition is getting
better.

: Then there should be hope

now.
(a) few
(b) little
(c) a little
(d) a few

: Your driving has improved.
: Yes, I think I can drive much

today.

(a) very

(b) well

(c) better

(d) very well

Did the CEO say something else about
the merger?

: He will let us know more details

it on Friday.
(a) about
(b) with
(c) for
(d) to

: Can I talk to Derek in R&D?
: Sorry, he for the day.

(a) leaves

(b) has left
(c) will leave
(d) is leaving




11.

12.

13.

14.

15.

A:

A:

: How’s your geography class?
: Overall, it is very good, except the

professor

(a) too fast speaks
(b) speaks too fast
(c) fast speaks too
(d) fast too speaks

: I have only $10 for the movie.
s It be enough, as the ticket
costs only $8.50.
(a) must
(b) could
(c) might
(d) should
Is there a direct flight to Moscow

tomorrow afternoon?

: Sorry, but you have to change
in China.
(a) plane
(b) a plane
(c) planes
(d) the plane
Will your parents permit your staying
overnight at the party?
: I'think they’d be to
allow it.

(a) last one

(b) the last one
(c) the last ones
(d) last ones

: We're going to be late for the play.
: Yeah. By the time we arrive, we

the first half of it.
(a) will miss
(b) are missing
(c) have been missing
(d) will have missed

16. A:

17. A:

18. A:

19. A:

20. A:
: Sorry, but I have

To my surprise, my grandfather has
recovered from cancer!

: He owes

(a) all it to modern medical technology
(b) it all to modern medical technology
(c) all to it modern medical technology
(d) all modern medical technology to it

Many Korean cars get exported to
foreign countries.

that’s true, a lot get
imported to Korea, too.

(a) Because

(b) Thus
(o) If
(d) Although
about Sam?
: He doesn’t have much self-respect.
(a) Don’t you like
(b) Why you do not like
(c) What don’t you like

(d) How don’t you like

What inspired you to continue your
research on the bird?
I my research if I

hadn’t met this wonderful ornithologist.

(a) haven't finished

(b) wouldn't finish

(c) won't have finished

(d) wouldn’t have finished

It’s too early for you to leave.

with my client.

(a) a meeting early morning
(b) a meeting morning early
(c) an early morning meeting
(d) early a morning meeting
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Questions 21-40

Choose the best answer for the blank.

21. When the family went overseas, they

(a) taking their cats decided

(b) decided to take their cats

(c) to decide to taking their cats
(d) were deciding take their cats to

22, Although Susan played the piano
well in the concours, she
won none of the prizes.
(a) very
(b) much
(c) so that
(d) enough

23. Mr. and Mrs. Franklin were sitting on the
bench
horizon.

(@) by
(b) until
(c) since
(d) for

the sun set below the

24. The result of the clinical demonstration
can have profound implications

(a) if confirming by similar other tests

(b) being confirmed by similar other tests

() if confirmed by other similar tests

(d) if being confirmed by similar other
tests

25, Finally, there was a meeting of all the
participants, fully

understood the purpose of the forum.
(a) no whom
(b) none of whom
(c) of whom none
(d) whom of none
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26. Despite her tight schedule at work, Jacklin

(a) found the time somehow reading
(b) somehow found to read the time
(c) found the times somehow to read
(d) somehow found the time to read

27. Only 2 percent of India’s population
in Buddhism, even though
the religion originated in the country.
(a) believes
(b) believe
(c) is believing
(d) are believed

28. living in this city are
employed in the manufacturing industry.
(a) The half of almost peoples
(b) Almost half of people
(c) Half the people almost
(d) Almost half of the people

29. to be responsible for
World War I, Germany was burdened with
heavy compensation.

(a) To believe

(b) Believing

(c) Believed

(d) Having believed

30. A human being is ,

apart from society.

(a) meant not living alone
(b) not meant living alone
(c) not meant to live alone
(d) meant to live not alone




31.

32.

33.

34.

35.

After coming back from climbing in
the Himalayas, Rosie insisted

(a) she seeing the creature

(b) her to be seen the creature

(c) having seen the creature

(d) that she has seen the creature

The person who comes first to the office

not call security to open the
door, because we now have an electric door
lock.

(a) does
(b) need
(c) could
(d) might

It is considered unnecessary to make a
passport

(a) for those unlike traveling overseas
(b) for those travel unlikely overseas
(c) for unlikely those travel overseas
(d) for those unlikely to travel overseas

The researchers became frustrated when
they realized they for five

years without any significant achievement.

(a) have worked

(b) were working

(c) have been working
(d) had been working

Genetic analysis is making discoveries,
new insight into the human
body.

(a) provide

(b) providing

(c) being providing
(d) to provide

36.

37.

38.

39.

40.

Not of the students met the
course requirements specified in the
syllabus.

(a) all

(b) any

(c) every

(d) none

By the end of this training session, the
employees a more

detailed grasp of marketing strategies.
(a) attained
(b) have attained
(c) have been attained
(d) will have attained

Senior executives are able to calculate

exactly what
so as not to make losses.

(a) the sales goal of percentage should
be met

(b) percentage should be met of the sales
goal

(c) percentage of the sales goal should
be met

(d) should be met the percentage of
sales goal

No sooner

than he stored it in his digital organizer.

(a) the number had remembered he
(b) he the number had remembered
(c) had remembered the number

(d) had he remembered the number

Until last week, we

that we could go on such a long vacation
because of our hectic schedules.

(a) do not imagine

(b) have not imagined

(c) had not imagined

(d) have been imagined
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Questions 41-45

Identify the option that contains an awkward expression or an error in grammar.

41. (a) A: I have something to tell you right

now.

(b) B: Okay, I'm listening. Go ahead and
tell me about it.

(c) A: I saw your boyfriend dating other
woman the day before yesterday.

(d) B: It couldn’t be Fred. You must have
seen the wrong person.

42. (a) A: I think you're drinking too much
coffee nowadays.

(b) B: That's because I have been under lots
of pressure at work.

(c) A: But you can suffer from sleeping
disorders when you drink that much
coffee.

(d) B: I don’t think drink 2 cups of coffee a
day can cause sleeping problems.

43. (a) A: Are you going to work overtime
today?

(b) B: Yes, my boss had me to make a
schedule for next project within the
day.

(c) A: That means you don’t have time to
go out with me tonight.

(d) B: Yeah. I've got to spend all evening
finishing it up.
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44. (a) A: I regret to have tedious college days.

(b) B: You went on a wonderful vacation to
Costa Rica last summer.

(c) A: That’s not a big deal. I've always
dreamed of being an exchange
student.

(d) B: Ambition has no limits. I've got a
friend who has never been abroad.

45, (a) A: I hate those who suddenly break in

on other people’s conversations.

(b) B: I agree. I get really annoying when I
am interrupted like that.

(c) A: Such people usually want to
dominate the conversation.

(d) B: They must learn to be good listeners
before they thrust themselves into the
talk.



Questions 46-50

Identify the option that contains an awkward expression or an error in grammar.

46. (a) With the job market crowded,
companies are receiving a huge number of
applications, even for a single position.

(b) In such a situation, interviews are
considered a powerful means of helping
screen all the applicants and select the right
person. (c) For a job seeker, interview is a
crucial phase which one can effectively
convey his skills and capabilities, and also
how he differs from others. (d) It is also a
good opportunity to communicate with the
employer and learn about the company
and its people, policies, and work culture.

47. (a) Thorstein Veblen many years ago
suggested that conspicuous consumption is
used by people to display their wealth,
power and status. (b) That explains why
highly visible prestige brands haunt the
lives of modern customers. (¢) An increase
in ownership of those positional goods
benefit some people at the expense of
others because we cannot all be the
trendiest, most famous people, or live in
the best neighborhood. (d) Adding to the
price of a luxury product increases its
positional value, while more and more
people are forced to compete to buy it.

48. (a) Spencer Silver, working in the 3M
research laboratories, developed a new
adhesive. (b) However, it was even weaker
than what 3M has already manufactured —
it stuck to objects, but could easily be lifted
off — no one knew what to do with the
stuff. (c) Four years later, struggling to
make a strong but easily removable
bookmark, another 3M scientist, Arthur
Fry, remembered Silver’s adhesive. (d) The
markers coated with the super weak
adhesive could stay in place, yet be lifted
off without damaging the pages, and today
are one of the most popular office
products, Post-it Notes.

49.

50.

(a) In old New England, the family farm
system was based on the work force of the
farm family. (b) Its most important
component was the working couple who
shared overlapping activities to operate the
farm. (c) Usually they were a husband and
wife, but in the instance of the loss of one
partner, the rapid replacement of either the
male for female member was crucial to the
survival of the farm. (d) If a wife died, her
work role was assumed by another female,
such as an unmarried sister, and if the
husband died, usually an older son
succeeded the father, or the wife quickly
remarried.

(a) In a provocative analysis of sport ethics
and human values, Genetically Modified
Athletes imagines the brave new world of
sport. (b) The internationally acclaimed
book examines this issue questioned the
very cornerstone of sporting and medical
ethics, asking whether sporting authorities
can, or even should, protect sport from
genetic modification. (c) Moreover, this
book brings together sport studies and
bioethics to challenge our understanding
of the values that define sport. (d) We
already allow athletes to optimize their
performance through the use of
technologies, but we do not assert that
“anything goes” in sports performance
enhancement.
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